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p �� ¡¢£¤ ¥ qi = 1− pi¦ § ¨ ©ª«

(1− (1− p1p6)(1− p4p3)q2)p5 ¬­®­¯°±²³ ´±­¯§ ¦ ¨ ©§¨
(1− (1− p5p4)q6)(1− q1q2q3) ¬µ¶µ¯°± ·¸µ¹­¯º § ¨ ©º»
(1− (1− (1− q2q3)p6)q1)(1− q4q5); ¼°¯² ½¶­¾¶µ¯« § ¨ ©¿§
(1− (1− (1− q1q3)p5)q4)(1− q2q6) À­Á­ÂÃ²¯ ½­¶µÄ²ÅÆ ª ¨ ©ª¨
(1− (1− p1p2p3p5)q4)p6; Ç°È°É°Ä°± Ê¶µÃÈµÅª ª ¨ ©º¨
1− (1− (1− q1q2q3)p5p6)q4 Ë­¶ÌÂµ± ´¶ÍÎ» Æ ¨ ©ºº
1− (1− (1− (1− p1p2)q3)p5)(1− p6p4) Ë°Ä¾²¯ Ê¯¸°¯¿ º ¨ ©§¿
(1− (1− p1p2p3p5)q4)p6; Ï°Èµ¯Ã° Ê¶µÃÈµÅÐ § ¨ ©»º
1− (1− (1− q5q3)p6)(1− p4p2)q1 ÑÒÄÓ¶Ô­­¸­Ä Õ³®ÒÒ¦¨ ª ¨ ©Ð¨
1− (1− (1− (1− p1p2)q3)p5)(1− p6p4) ÖµÅ®­¯°± ×Ø¾±²É¦¦ º ¨ ©¦Ð
(1− (1− (1− q1q3)p5)q4)(1− q2q6) ·¸ÄÒ³Ã°± Ù Ä²Å¦§ ª ¨ ©ª¨
1− (1− p5p6)q1(1− p2(1− q3q4)) Ú³­µ± Ö°Á­¯¦º « ¨ ©¦Ð
(1− q4q6)(1− q1q2q3)p5 ÛµÈ¸­Ã°± ½²Ã¸°Ä¦« º ¨ ©¦Ð
1− (1− (1− q5q3)p6)(1− p4p2)q1 Ü­®°Á°± ½ Ý Ê Ý¦Æ ª ¨ ©¦¨
(1− (1− p5p4)q6)(1− q1q2q3) ¼ ­É²Î¯°± Õ Ý¦ª ª ¨ ©º¨
1− (1− (1− (1− p1p2)q3)p5)(1− p6p4) ÞÄßÒ¯°± ´ ÝÊ Ý¦» ª ¨ ©»¨
1− (1− (1− q1q2)p5p6)q3q4

�àá âáàã
¦¿ ¦ ¨ ©Ð¨

(1− (1− p5p4)q6)(1− q1q2q3) ÊÄÁ­¯¾Ò ä Ý¦Ð Æ ¨ ©¿»
(1− (1− (1− (1− p2p6)q1q3)p5)q4) ·Ò¯Í åßÎÈØ­¯Íæ çèé ê¤ë£ §Ðìí§î ï


